internal_u_expt30_nscalel.5v3.4_10yrs: NEO High velocity pair detection loss

________________________ == 95th %ile
.......................................... —_— c-eeo 75th %ile
60000 A '; } — Median
. | = =: Mean
: N 25th %ile
: I ——. 5th %ile
: 1
50000 - :
H 1
. |
. 1
. 1
0n H 1
€ 40000 A : 1
o : 1
= : 1
2 : I
= : I
(V] : |
o : |
2 30000 - : I
= : 1
2 . 1
I . 1
: 1
H 1
. 1
D e S 5 :
~~~~~\\ 1
NS 1
N \\\ 1
S 1
So "
10000 A > 1
\\ 1
\\\ 1
~o :
N
0 U T T - T T 1 ~_I~~_ !
16 18 20 22 24 26 28

H (mag)




